0.S.D.A.V. Public School Kaithal
July Test 2024-25

Class — XI Set-A
Subject — Applied Maths
Time : 1 hr 30 min M.M. 40

Instructions :

All questions are compulsory. This question paper has 5 Sections. Section A has 10 questions
of 1 mark each. Section B has 7 Questions of 2 marks each. Section C has 2 questions of 3
marks each. Section D has 2 questions of 5 mark each.

Section — A

Q1 Which of the following binary number is equal to decimal number 47?

a) (101110), b) (101111), c) (100111), d) (101010),
Q2 If 8**1 = 64, then the value of 32**1 s

a) 27 b) 3 c)9 d) 15
Q3 The value of log,5 32 is

a) 8 b) 6 c) 10 d)9
Q4 Ifa=b*,b=cY and c = a? then the value of xyz is

a) 0 b) -1 1 d)3
Q5 Which of the following is not true

a) ANB=BNA b)ANA=A OANG=0 dANU=U

Q6 Let A ={1, 2, 3} and B = {7, 8} then number of relations from set A to set B are

a) 6 b) 26 )5 d) 2°
Q7 The sum of 99 terms of the series1—-1+1-1+1-1+1............. is
a) 1 b) -1 c)0 d) 2

Q8 The two arithmetic mean’s between - 2 and 4 are
a) -1,3 b) 0, 2 c)-1,1 d)o,3
Q9 If the characteristics of 0.012345 and 0.0001234 are taken as p and g then the value of
p—qis
a) -6 b) -2 c)-4 d) 2
Q10IfA={a,b,c,d, e}andB={d, e, f, gt then (A—B) N (B—A)is
a) {d, e} b) @ c){a, b, c} d) {f, g}
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Section B
Q11 Find the sum of series 2 +5+ 8 +_.......cccceunneeee + 182
Q12 IfA={1,4},B={2,3,6}and C={2, 3, 7} then find (AxB) U (A x C)

Q13 In a class of 25 students, 12 students have taken Economics, 8 have taken Economics
but not Maths. Find the number of students who have taken Economics and Maths.

Q14 Find x, if logx =log 3 + 2 log 2—% log 16

n+1_ qqn-1

Q15 Simplify  —=——

Q16 Convert (101.1101), into its decimal form.
75 5 32
Q17 Prove that log i 2 log 5t log a3 log 2
Section - C
Q18 LletA=1{1,2,3,4, ... , 14} and a relation R is defined from A to A by
R={(x,y):3x-y=0;xy€EA}

i) Write R in its roster form.
ii) Write its domain, range and co-domain.

Q191fuU={1,2,3,4,5,6,7,8}, A={1, 2, 3,4}and B = {3, 4, 6} then verify that
(AnB)=A"U B’
Section—D
Q20 Find the seventh root of 0.00001427

Q21 The sum of n terms of two A.P.s are in the ratio (5n + 4) : (9n + 6). Find the ratio of their
18t™ terms.
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